AAIS

800.434.7400 | 978.562.7500 | Fax: 978.562.0811 | www.ais-inc.com

&

AAIS

Paxton

Task Chair (3400 Series)

Assembly Instructions



INCLUDED PARTS STEP 3

N e \
S . / ~

Left Arm/Leg x1 Right Arm/Leg x1 Cross Stretcher x1 Seat x1 Seat Back x1 The cross bar should be lined up with the pre-drilled bolt

holes on the side frames. Take four of the M6 x 30mm bolts

- using the allen wrench screw in two on each side in the
@ M W I pre-drilled holes. Do not tighten yet.

M6 x 16mm Bolts x2 M6 x 30mm Bolts x8 M6 x 20mm Bolts x4 Allen Wrench x1

STEP 1 STEP 4

Take both left and right arms/legs and stand them up. Take
the cross stretcher and place it in the center of both the
side frames so that it lines up with the bolt holes on each.
Using the allen wrench screw in the two M6 x 16mm bolts
underneath, one on each side. Do not tighten screws yet.

Place Chair on a level floor. Tighten all bolts. If the chair wobbles, loosen and relevel. Once releveled,
re-tighten screws (see Step 1, 2 and 3 images for reference).

STEP 2 STEP 6

Take the seat back and align it so that the pre-drilled bolt
holes line up with the side frames pre-drilled bolt holes
(see image for reference). Take the four M6 x 20mm bolts
(2 on each side) using the allen wrench screw them in the
pre-drilled holes. Do not tighten yet.

Sit back, relax and enjoy your new Paxton chair.

View the full Seating line at ais-inc.com

Revision 6.1.2017 View the full Seating line at ais-inc.com
Phone: 800.434.7400 Fax: 978.562.0811

Revision 6.1.2017
© 2017, AIS, Inc. Phone: 800.434.7400 Fax: 978.5662.0811

© 2017, AIS, Inc.



